



Volume 8, Number 3, 2022, 249–253

N VARIABLE LOGARITHMIC MEAN

KENJIRO YANAGI

ABSTRACT. It is well known that the Hermite-Hadamard inequality refines the definition of convexity of function f(x) defined on [a,b] by using the integral of f(x) from a to b. There are many generalizations or refinements of the Hermite-Hadamard inequality. In this article, we give an N variable Hermite-Hadamard inequality and apply to give the definition of N variable logarithmic mean.

1. Introduction

A function $f:[a,b]\subset\mathbb{R}\to\mathbb{R}$ is said to be convex on [a,b] if the inequality

(1.1)
$$f\left(\frac{x+y}{2}\right) \le \frac{f(x)+f(y)}{2}$$

holds for all $x, y \in [a, b]$. If inequality (1.1) reverses, then f is said to be concave on [a, b]. Let $f : [a, b] \subset \mathbb{R} \to \mathbb{R}$ be a convex function on an interval [a.b]. Then

$$(1.2) f\left(\frac{a+b}{2}\right) \le \frac{1}{b-a} \int_a^b f(t)dt = \int_0^1 f((1-t)a + tb)dt \le \frac{f(a) + f(b)}{2}.$$

This double inequality is known in the literature as the Hermite-Hadamard integral inequality for convex functions. It has many applications in more different areas of pure and applied mathematics. In Section 2, we try to obtain an N variable Hermite-Hadamard inequality. As applications, we give the definition of N variable logarithmic mean and N variable operator logarithmic mean. In Section 3, we compare our N variable logarithmic mean and another N variable logarithmic mean which has been defined in [10, 11]. We show that we can't compare those means by taking examples.

2. Hermite-Hadamard inequality

We need the following result.

Lemma 2.1 ([15]). Let $x_1, x_2, \ldots, x_N \in \mathbb{R}$ or $x_1, x_2, \ldots, x_N \in X$, where X is a linear space. Then

$$\sum_{i=1}^{N} x_i = \frac{1}{N-1} \sum_{i < j} (x_i + x_j).$$

 $^{2010\} Mathematics\ Subject\ Classification.$ Primary 26D15, secondary 26B25. Key words and phrases. mean, logarithmic mean.

250 K. YANAGI

Proof.

$$\sum_{i=1}^{N} x_i = \frac{1}{2} \left\{ \sum_{i=1}^{N} x_i + \sum_{j=1}^{N} x_j \right\} = \frac{1}{2N} \sum_{i=1}^{N} \sum_{j=1}^{N} (x_i + x_j)$$

$$= \frac{1}{2N} \left\{ 2 \sum_{i=1}^{N} x_i + \sum_{i \neq j} (x_i + x_j) \right\}$$

$$= \frac{1}{N} \sum_{i=1}^{N} x_i + \frac{1}{2N} \left\{ \sum_{i < j} (x_i + x_j) + \sum_{i > j} (x_i + x_j) \right\}$$

$$= \frac{1}{N} \sum_{i=1}^{N} x_i + \frac{1}{N} \sum_{i < j} (x_i + x_j).$$

Then

$$\left(1 - \frac{1}{N}\right) \sum_{i=1}^{N} x_i = \frac{1}{N} \sum_{i < j} (x_i + x_j).$$

That is

$$\sum_{i=1}^{N} x_i = \frac{1}{N-1} \sum_{i < j} (x_i + x_j).$$

We have the following N variable Hermite-Hadamard inequality.

Theorem 2.2 ([15]). Let f(x) be a convex function on \mathbb{R} and let $x_1, x_2, \ldots, x_N \in \mathbb{R}$. Then

$$f\left(\frac{1}{N}\sum_{i=1}^{N}x_{i}\right) = f\left(\frac{1}{N(N-1)}\sum_{i< j}(x_{i}+x_{j})\right) = f\left(\frac{2}{N(N-1)}\sum_{i< j}\frac{x_{i}+x_{j}}{2}\right)$$

$$\leq \frac{2}{N(N-1)}\sum_{i< j}f\left(\frac{x_{i}+x_{j}}{2}\right)$$

$$\leq \frac{2}{N(N-1)}\sum_{i< j}\int_{0}^{1}f((1-t)x_{i}+tx_{j})dt$$

$$\leq \frac{2}{N(N-1)}\sum_{i< j}\frac{f(x_{i})+f(x_{j})}{2}$$

$$= \frac{1}{N(N-1)}\sum_{i< j}(f(x_{i})+f(x_{j})) = \frac{1}{N}\sum_{i=1}^{N}f(x_{i}).$$

Proof. The first equality is given by Lemma 2.1. The first inequality is given by the convexity of f(x). From the second inequality to the third inequality are given by (1.2). And the last equality is given by Lemma 2.1.

When $f(x) = e^x$, we have the following corollary.

Corollary 2.3. Let $f(x) = e^x$. We suppose that $x_i \neq x_j$ for $i \neq j$. Then

$$exp\left\{\frac{1}{N}\sum_{i=1}^{N}x_{i}\right\} \leq \frac{2}{N(N-1)}\sum_{i< j}\frac{e^{x_{i}}-e^{x_{j}}}{x_{i}-x_{j}} \leq \frac{1}{N}\sum_{i=1}^{N}e^{x_{i}}.$$

By putting $e^{x_i} = y_i, e^{x_j} = y_j$ we obtain

$$\left(\prod_{i=1}^{N} y_i\right)^{1/N} \le \frac{2}{N(N-1)} \sum_{i < j} \frac{y_i - y_j}{\log y_i - \log y_j} \le \frac{1}{N} \sum_{i=1}^{N} y_i.$$

Then we define N variable logarithmic mean as follows:

Definition 2.4. Let $x_1, x_2 ..., x_N \in \mathbb{R}$ and let $x_i \neq x_j$ for $i \neq j$. Then N variable logarithmic mean is defined by

$$I_1 = \frac{2}{N(N-1)} \sum_{i < j} \frac{x_i - x_j}{\log x_i - \log x_j}.$$

We also define N variable operator logarithmic mean as follows:

Definition 2.5. Let A_1, A_2, \ldots, A_N be positive bounded linear operators on Hilbert space. Then N variable operator logarithmic mean is defined by

$$\frac{2}{N(N-1)} \sum_{i < j} A_i \ell A_j,$$

where $A_i \ell A_j = \int_0^1 A_i \sharp_x A_j dx$ and $A_i \sharp_x A_j = A_i^{1/2} (A_i^{-1/2} A_j A_i^{-1/2})^x A_i^{1/2}$.

3. N Variable logarithmic mean

The another definition of N variable Hermite-Hadamard inequality has been given by [10, 11].

Definition 3.1. Let f(x) be a convex function on \mathbb{R} and let $x_1, x_2, \ldots, x_N \in \mathbb{R}$. Then

$$f\left(\frac{1}{N}\sum_{i=1}^{N}x_{i}\right) \leq (N-1)! \int_{\Delta_{N-1}} f\left(\sum_{i=1}^{N}t_{i}x_{i}\right) dt_{1}dt_{2} \cdots dt_{N-1}$$

$$\leq \frac{1}{N}\sum_{i=1}^{N}f(x_{i}),$$

where $\Delta_{N-1} = \{(t_1, t_2, \cdots, t_{N-1}) \in \mathbb{R}^{N-1} : t_1 + \cdots + t_{N-1} \leq 1, t_i \geq 0\}$ and $t_N = 1 - \sum_{i=1}^{N-1} t_i$.

When $f(x) = x^{-1}$, we have the following corollary.

252 K. YANAGI

Corollary 3.2. Let $f(x) = x^{-1}$. Then

$$\left(\frac{1}{N}\sum_{i=1}^{N}x_{i}\right)^{-1} \leq (N-1)! \int_{\Delta_{N-1}} \left(\sum_{i=1}^{N}t_{i}x_{i}\right)^{-1} dt_{1} \cdots dt_{N-1} \leq \frac{1}{N}\sum_{i=1}^{N}x_{i}^{-1}.$$

That is

$$\left(\frac{1}{N}\sum_{i=1}^{N}x_{i}^{-1}\right)^{-1} \leq \left((N-1)!\int_{\Delta_{N-1}}\left(\sum_{i=1}^{N}t_{i}x_{i}\right)^{-1}dt_{1}\cdots dt_{N-1}\right)^{-1} \leq \frac{1}{N}\sum_{i=1}^{N}x_{i}.$$

Then N variable logarithmic mean is defined as follows:

Definition 3.3. Let $x_i, x_2, \dots, x_N \in \mathbb{R}$. Then N variable logarithmic mean is defined by

$$I_2 = \left((N-1)! \int_{\Delta_{N-1}} \left(\sum_{i=1}^N t_i x_i \right)^{-1} dt_1 \cdots dt_{N-1} \right)^{-1}.$$

4. The comparison between two definitions

When N=3, I_1 and I_2 are represented in the followings.

$$I_1 = \frac{1}{3} \left\{ \frac{x_1 - x_2}{\log x_1 - \log x_2} + \frac{x_2 - x_3}{\log x_2 - \log x_3} + \frac{x_3 - x_1}{\log x_3 - \log x_1} \right\},\,$$

and

$$I_2 = \frac{(x_1 - x_2)(x_2 - x_3)(x_3 - x_1)}{2\{x_1(x_3 - x_2)\log x_1 + x_2(x_1 - x_3)\log x_2 + x_3(x_2 - x_1)\log x_3\}}.$$

In order to compare I_1 with I_2 , we put $x_1 = x, x_2 = (1+s)x, x_3 = (1+t)x$. Then

$$I_1 = \frac{x}{3} \left\{ \frac{s}{\log(1+s)} + \frac{t-s}{\log(1+t) - \log(1+s)} + \frac{t}{\log(1+t)} \right\},\,$$

and

$$I_2^{-1} = \frac{2}{(t-s)x} \left\{ \frac{(1+t)\log(1+t)}{t} - \frac{(1+s)\log(1+s)}{s} \right\}.$$

When s=1, t=2, we have $I_1I_2^{-1}=0.999312\cdots$. Then $I_1< I_2$. On the other hand when s=1, t=100, we have $I_1I_2^{-1}=1.0663634\cdots$. Then $I_1>I_2$. Therefore we can't compare I_1 with I_2 .

ACKNOWLEDGEMENT

The author is partially supported by JSPS KAKENHI 19K03525.

References

- [1] P. Cerone and S. S. Dragomir, Ostrowski type inequalities for functions whose derivatives satisfying certain convexity assumptions, Demonstratio Math. 37 (2004), 299–308.
- [2] S. S. Dragomir and R. P. Agarwal, Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula, Appl. Math. Lett. 11 (1998), 91– 95.
- [3] S. S. Dragomir, P. Cerone and A. Sofo, Some remarks on the midpoint rule in numerical integration, Studia Univ. Babes-Bolyai, Math. **XLV** (2000), 63–74.
- [4] S. S. Dragomir, P. Cerone and A. Sofo, Some remarks on the trapezid rule in numerical integration, Indian J. Pure Appl. Math. 31 (2000), 475–494.
- [5] S. Furuichi and H. R. Moradi, Advances in Mathematical Inequalities, De Gruyter, 2020.
- [6] F. Kubo and T. Ando, Means of positive operators, Math. Ann. 264 (1980), 205–224.
- [7] F. C. Mitroi-Symeonidis, About the precision in Jensen-Steffensen inequality, An. Univ. Craiova Ser. Mat. Inform. **37** (2010), 73–84.
- [8] M. S. Moslehian, Matrix Hermite-Hadamard type inequalities, Houston J. Math. 39 (2013), 177–189.
- [9] R. Pal, M. Singh, M. S. Moslehian and J. S. Aujla, A new class of operator monotone functions via operator means, Linear Multilinear Algebra 64 (2016), 2463–2473.
- [10] A. O. Pittenger, The logarithmic mean in n variables, Amer. Math. Monthly 92 (1985), 99–104.
- [11] M. Raissouli, Logarithmic functional mean in convex analysis, J. Ineq. Pure Appl. Math. 10 (2009), 102–125.
- [12] S. Simic and B. Bin-Mohsin, Some generalizations of the Hermite-Hadamard integral inequality, J. Ineq. Appl. **2021** (2021): 72, pp.1-7.
- [13] K. Yanagi, Refined Hermite-Hadamard inequality and weighted logarithmic mean, Linear Non-linear Anal. 6 (2020), 167–177.
- [14] K.Yanagi, Refined Hermite-Hadamard inequality and its application, Linear Nonlinear Anal. 7 (2021), 173–184.
- [15] K.Yanagi, Refined Hermite-Hadamard inequalities and some norm inequalities, Symmetry 14 (2022): 2522.

Manuscript received 12 December 2022

K. Yanagi

Department of Mathematics, Josai University, 1-1, Keyakidai, Sakado 350-0295, Japan *E-mail address*: yanagi@josai.ac.jp